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Review Radical Relationships Test Review

Simplify.
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Write each expression in radical form.
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Simplify. Your answer should contain only positive exponents with no fractional exponents in

the denominator.
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Solve each equation. Remember to check for extraneous solutions.

21) 3=~17-k
8

23) 7=v9- 54
8l

25) 10=V11m+12

27) 3-N2n+3=~2n-6
B |

29) Vsa+1=2-9-7a

| No solution.

22) V3v- 174 = \/%
! {e0}
24y N42 —v=v
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26) 2 - N2y+10=-1-v
" No solution. .

28) Vn=n-2
)

30) —4=‘\/2—m —Nom -2
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— Solving Radical Equations and Ineqgualities

)

Solve each equation.

1. Jx+6=7 2. J5x =10
Jc: 3 (JC'T—QCD
3. J2x+5=3x—1 4. Jx+4=3Jx
L= k=%
5. 3x—-6=33x+24 6. 3¥x=37x+5
L=-15 e = Ver
7. J-14x +2=x-3 8. (x+4)2 =6
No  Soluhon )C"_’ﬁ;
9. 4(x-3)2 =8 10, 4(x - 12)% =16

e =1 f z-52

Solve each inequality.

) 11. Bx16<3 12. Jx-4+3>9
[-2 1] ( 4o, =)
13, Jx+7 2y2x -1 14. (2x-7>9
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Solve.
15. A biologist is studying two species of animals in a habitat. The population,

3
p1, of one of the species is growing according to p, =500¢2? and the

population, p2, of the other species is growing according to p2 = 100
where time, t, is measured in years. After how many years will the
populations of the two species be equal?
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